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Logistic Functions: "
no

Do you think it is reasonable for a population to grow exponentially indefinitely?

Logistic Growth Functions ,.. functions that model situations where exponential growth is limited. . I
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The graph of a logistic function looks like an exponentlal function at first, but then “levels off” aty = The
logistic function has two HAly = 0 and y = ﬂ

nExample of modeling with the logistic function: ,
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The number of students infected with flu after t days at Springfield High School is mode]ed by the foIIowmg
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a) What was the initial number of infected students t=0? / f
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b) After 5 days, how many“tudents will be mfected? |
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c) What is the maximum nulr'hber of stidents that will be infected? = : // g -
&= LLODD S ncke i 5 Y=Re== i s
d) According to this model, when will the number of students infected be 800? OO

- P =
= REYTIO0 = Sl YT
v

Analyzmg Logistic Functions: — t: T
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/  Example 1: The population of Glenbrook in the y the population Increasedat
o ear 1910 was 420Q. Assume the popu D
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a) Write an exponential model for.thf; population of Glenbrook. Define your variables. g
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b) Determine the population in 1930-and 1900. = -y ‘
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¢) Determine when the population is double the original amount. \fl: QoKD = ’5\ 5
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Example 2: The half-life of a certain radioactive substance is_iiggf. There are 10 grams present
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a) Express the gmount of substance remaining as an exponential functic of time. Define your variables.
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(a) When will there be less than 1 gram re'r'r’laining:? o ¢ - \ y
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Example 3: Find a llc’)%' tic e?;luation of the form | Gy 7 that fits the graph below, if the y-intercept is
(O, 5¥nd the point (24, 135)is on the curve. \ o\ ' nf-\-a\r\j:?\.
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